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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfiliment needs according to Maslow’s Hierarchy of needs. / #ATEAT &T YO &7 RCGET F AR ¥q-
gfet #r amaeawa

1. Self-actualization / 3TTcH-faRerwoT

2. Physiological needs / ftraTcai® 3maraendr

3. Belongingness and love needs / f@ama 3R @R & 3maeaear
4, Esteem needs / 931 sToIT

Correct Answer :-

« Self-actualization / 3Tca1-faeeryoT

2) What part of the personality operates on the pleasure principle according to Freud? /

WIS & AR, HTeig RAGUTd TN SATFded F1 HIeT AT 3117 Fanfoa giar 82
1. Ego ideal / 37§ 3maxf (M 3Mgsd)

2. Superego / UNTE (FUISIM)

3. 1d / UgaTe (3MSEN)

4. Ego / 37€ (371

Correct Answer :-

. Id/ UEdTe (3L

3) What is the time in a child’s life between childhood and adulthood known as? / STeITaET 3 9IEHAT & T T T2 & Sfiasr & HiT
AT HAT QT 8?2

1. Adolescence / feReIRTaE2T

2. Menarche / TSlEQ1

3. Middle childhood / FET ITeATaEAT
4, Puberty / Jlaa

Correct Answer :-

« Adolescence / fepQiTaE2m

4) What is the term given to describe the sudden ‘aha!’ moment that sometimes helps us solve problems? / 3Teleh “31gT!” &T0T T gofer
FT & forw sl a1 g form o §, S Faft-hslt g FATAT3T Y g Fot H Heg FIAT 8?2

1. Flashbulb / I aed
2. Insight / 3idEty

3. Observation / 3Tdcilehe
4. Deduction / UfoTT



Correct Answer :-

 Insight/ 3aef®

5) What is the term given to denote the ability of a test to consistently measure what it is designed to measure? / f&Y TiayoT Y 8751 Y
e #te & fore o7 @ v Ram 2w @, o areperar @ wrae & fare 3@ Bamger fram a2

1. Norms / #TEES
2. Reliability / fa#ra=iaar
3. Reasoning / I
4. Validity / &ar

Correct Answer :-

« Reliability / fra=iar

6) Benefits of Inclusive Education are: / AT FRvaIr & omar &:

1. Develops moral and ethical principles only / hael A fdd 3R e Rrgia ARy aar

2. Increases communication and social skills only / Sharel TaR 3R ATATTSIS HIRTeT TET=T

3. Increases acceptance and appreciation of diversity only / e fafaerar ér Rh?f% 3R oRrAT FErer
4. All of the above / STdad Tt

Correct Answer :-

« All of the above / Iudad Tqaft

7) The urge to provide care and protection to offspring is motive. / HelTAl T J@HT 3T YI&TT JeTeT FIA FT AT Yo
gl

1. Sex /3l

2. Maternal motive / T 3TTHLROT
3. Achievement / 3UAITeq

4. Affiliation / HIUe

Correct Answer :-

« Maternal motive / FT 3TTAUROT

8) Which of Erikson’s stages of psychosocial development results in the virtue of competence? / TREFHA & AATHATIS A & HlT &
Tor & yiaafrar srae s gt 2

1. Trust vs. mistrust / f3ATT ST 3Tama

2. Intimacy vs. isolation / SIASAT TATH 3Tl

3. Ego integrity vs. despair / 37§ TGS TATH AR
4. Industry vs. inferiority / TR IATH EIAAT

Correct Answer :-

« Industry vs. inferiority / R g1t €T



Which of the following strategies cannot be used by a teacher for a mentally retarded learner? / ﬁtﬁa?apm AATF T F A Rramedt
(@) & fav Arafaf@d & ¥ g sR-ATS 1 393 38 P s award?

1. Breaking smaller tasks into large steps. / B¢ ®ie- 1l ¥ g8 B & AU BT

2. Presenting the information to learner using visual aids. / T4 Y &1 JuanT a fRemedf (FF??) P THERY TG HRATI
3. Involving the learner in group activities. / T¥Hg nfafaferat 7 fRramdf (&_“Fh) P T HIATI

4. Providing the learner with immediate feedback. / fRremaf (?F-TT) P! BT TlAfehar Te™ BT

Correct Answer :-

» Breaking smaller tasks into large steps. / B BfeT prEAf A El% P § fauorg s

10) According to Good and Power, which category of students are more likely to engage in outbound activities? / 3=aT$ 3R Faedr & IR, aEt
#r Fw Aoft # rsearsz afaffat F doew @ 0T garaar 2

1. Social / TTATTSIR
2. Phantom / %ead
3. Successful / H%heldl

4. Dependent / IGERS

Correct Answer :-

« Social / TATTSH

11) Specialized teaching strategy geared toward supporting student’s learning is ./ o & WES F1 gAGT I & Qv FAR RAftee Risor
Y gl

1. Writing / /@l
2. Scaffolding / ErwifesaT

3. Reading / UTo

4. Brainstorming / ToaR-#HI

Correct Answer :-

o Scaffolding / ThwHifesa

12) Which of the following is not one of the main method of deriving traits? / fF=faf@a & & 41 F&Tor yrcad &< i qeg AU § § & 7@t P
1. Hypothetical / UTdFheUeTcdd

2. Lexical / emfeg®

3. Statistical / TifEIHT

4, Theoretical / Hgifd®

Correct Answer :-

» Hypothetical / UTdFheUeTcdHDh

13) Which of the following is true about modern evaluation? / 3mgfas Aeawd & aX A emfa@a # @ i @ 7
1. Summative evaluation / Zﬂ?Tlﬂ?le'-F Heldiched

2. Continuous evaluation / Hd FedAThe

3. Product orientation / 3cUie 3793111 U

4. Rote learning / €A Er@AT



Correct Answer :-
« Continuous evaluation / Hdd Hedhe

14) Which among the following is NOT the focus in planning and delivering a developmental, comprehensive guidance and counseling program? /

farfaf@a & ¥ 71 e, cuus Avigda AR WA FRFEA A Ao T@= 3R FaRa F@ & cae R 78 e 2
1. Financial / faeiar

2. Personal / <afehard

3. Social / HTATSH

4. Academic & career / Q&TORAT 3R HRAT

Correct Answer :-

« Financial / =i

15) Who elaborated an enormously complex notion of natural development under a thinly disguised divinity? / fF@er ST F Yoo eaar &
dea Tpfas e 1 v sams diea aron Ft Rega fFare

1. Baldwin / aTos e

2. Erikson / 3ReFqeT

3. Piaget / TS

4. Vygotsky / aTSINcEhl

Correct Answer :-

« Baldwin / aTesfae

16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / ‘faarere aﬁ?q\ﬁmw' # ATTF et FT AW &
1.1

2. 15

3. 10

4.0

Correct Answer :-

o 15

17) The environment in which children grow up will how they think and what they think about. / 5/ aRaer # s=2 a2 gia &, 98
a1 § B 3§ F¥ wr=ar § 3R 9§ Fr S @

1. maintain / SIITEAT

2. weaken and disturb / HHSR 3R wem=T
3. scare / S

4. influence / gHIfad

Correct Answer :-

« influence / UHTRAd

18) Gender division is defined as ./ T RseaT Y F w7 A g Far AT g
1. Division between male employees and female employees. /WWWW%W%MI



2. Biological differences between males and females. /Wﬁ?mﬁﬁiﬁﬂéiaiﬁml

3. Male to female ratio. /Wﬁmﬁiﬁfliﬁqml
4. The hierarchal roles of males and females within society. / THTSl & 3fciid Qs 3R Afgenst & ygrwH yffprai

Correct Answer :-

« The hierarchal roles of males and females within society. / THTS & 3fciid gou 3R Afgenst & ugHwH yffmrai
19) What is teaching through deductive method? / fAereeaT fafer ganrt RaTor 7= T #2

1. From macro to micro / Heh! & HIShH! O

2. From general to specific / |HTT 3 fafdry a

3. From specific to general / fafre & @ma=a a&

4. From easy to difficult / 3T & HfdeT dh

Correct Answer :-

« From general to specific / 9T § faf¥Iy a&

20) Students don’t want to learn new concepts whichare . / @ faendfsit 81 & a1 7 srauronaii &) e Tgi amed € |
1. Ambiguous | Tfezands

2. Intelligible / Fi&amer

3. High quality / S8R

4, Plausible / oliep-T0

Correct Answer :-

+ Ambiguous / TfeTUTH

21) Which of the following statements is NOT true? / frrafafad sy § 9 S99 99 T8 %?

1. Some diseases and disorders are a product of inheritance. /W o1 3R AR Ef‘\’l'l?fflﬁ %ﬁﬁ %:'I

2. Enriched environment enhances child’s development. / g dTATAXOT = & APE A gerdr %’I

3. All genetic disorders can be prevented by taking proper measures. / 3/d 3UrT &th T 3ﬂ§ﬂf‘\ﬁ?ﬁ fIPRT P AT ST ThT B

4, Children are able to learn more finite skills through play. / 9T ®el & ATegd ¥ 3% gRfaa pierer W@y F @etH §)

Correct Answer :-
» All genetic disorders can be prevented by taking proper measures. / sRa surr wh g ﬁaﬂfﬂ?ﬁ JPRT T AhT ST HqBAT &l

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? / RIS ¥ TAETHS RHFT & faagna A, 'H:ci'
WRFATcA® 3aTAT FT d6T 4T §7

1. Operational thought / TfthaTca® TR
2. Abstract concepts / 3Hd TUROT

3. Object permanence / d¥g e

4, Symbolic thought / Fclilcas faR

Correct Answer :-

« Operational thought / HfshaTcas TR



Which of the following is not a concept related to classical conditioning? / eifaf@a & ¥ sla @ Farfdhr sl (Rrufafsa weggee) & d&fa
FEUROT A 82

1. Neutral stimulus / dcET 3E0%

2. Conditioned response / Hﬂﬂﬁlﬂ' Hﬂﬁh_!ﬂ

3. Shaping / f@%qor (QAfthT)

4, Stimulus generalization / 381U HTHATHIHIOT

Correct Answer :-

e Shaping / feuor (AfTT)

24) Each child is unique. This statement refers to the principle of: / Ud® F=I g %I qg Y & fygid & Teftlfa Har %I
1. Continuity / faaxar

2. Uniform Pattern / Th&TAT

3. Integration / TehTicHbAT

4. Individual Differences / dafhep fReaAdr

Correct Answer :-

« Individual Differences / 3aThep fReatdr

25) Similar attributes are combined together by the child to form ./ & famfor & 9= gRT U 91y JE faRwarsy &Y
fraTe) T o @

1. Concepts / ITYUROTT
2. Letters / 31&TX

3. Words / Qe

4. Judgments / 3T AT
Correct Answer :-

« Concepts / ITYROT

26) Children gain a good understanding of scientific reasoning and practice because of pedagogical approaches that focus on: /

e =PI fpe IR e Hed $3 & 92 a7 a SR T BT St THS TR Pl ©:
1. Writing skills / or@eT el

2. Scientific ideas / d¥TTiaen AR

3. Communication / FER

4. Student activity / Tt wgfa

Correct Answer :-

« Scientific ideas / 3= @R

27) Inclusive education is a new towards educating the children with disabilities. / THTA=T Rr&mr, feauim a= ot Rifeéa v
Pt fo=n & we a0 H

1. Demand / &9
2. Approach / 3UTTH (TTEHION)

3. Direction / f&2r (fgam)
4. Process / ufeean



Correct Answer :-

« Approach / SUTITH (FTRHIUT)

28) Ignoring of the learning- readiness would resultin______ . / SIRATH - dauvar #1 Bﬁ&ﬂ P R W gRomH a'lﬁl
1. Development / fd&m™

2. Maturation / GRTeFadr

3. Improvement / §UX

4. Frustration / farem

Correct Answer :-
« Frustration / faem

29) Self-evaluation by a teacher shows hisroleasa___ . / U 1&g/ gRT W@U-geidd 3TDI YT o1 g=Itar 81
1. Classroom researcher / D& et

2. Reflective practitioner / faeaR=la giue (Ruifdea MaewR)

3. Co- learner / Te-fRrameft (ﬂ?-iT)

4. Facilitator / UfR1&i®

Correct Answer :-

« Reflective practitioner / faaR=ie gfte (Rudifaea Hfdewr)
30) What does the term '‘Dyslexia’ denote? / Efemar e fora faefia eear %?
L. Difficulty in taking notes. / ACH ol H AHIG|

2. Learning difficulty that can cause problems with reading, writing and spelling. / @@ I HfSAS S uga, former 3R adeh & worear Uer T Fapdr
il

3. Learning difficulty with number processing and calculation. / TEIT JEEROT 3R 07 & @y dr@a F wied él

4, Specific handwriting disability. / Tafrg for@mac ST |

Correct Answer :-

« Learning difficulty that can cause problems with reading, writing and spelling. / EY@et T Ffeas St uga, formar 3R adelt & Taear der X aad
gl

Topic:- General Hindi (L1GH)

1) WA TUA ¥, A ¢ 1 Ho B A BT AN BT SHRGT ST 41| G HeThTa 1R (PRIt o1 $91 A -t W 9 gd ?) & WeTeTay ‘giers” aur
NERTY IR TATTE B Fidl-R-NE ) Fowa A1 37 41 TgThT W Fd AR AR s9R UfRTal § 1| $5 IR d 30 IRAT 18 R Thd A

YRA § FeT | $3 HINTY Siell oiTell 781 § fobeg R T § W d T WA R WRd § BT UTI YR & -9 A Sfaal 3k fagrl 3 wpa & aid &
YR AT BT USR WRTI U URe BT =1 94T RAFH gR-gv & =0 b San|

fRwTera uda 3R TER-TTEY WRRT B UR HR& WRA Bt FEIAI BT HSR "SU-HRAENR’, “Tad=” 3R 0P, gR-gR 30 a@ g
IR TR BT UgHR 1 IS 7Y YR 6T IR Ia15¢ :

U ‘SR’ BT IR 72

1. 1€ T AT

2. %3 & YA o AT

3. %3 P AH HLAT

4. 578 ST



Correct Answer :-
o TG H oA

2) T T #, I8 T 3 HowI B A BT AN BT ST S AT GAT AT g (et e S @ it 6t 9 gd ?) & werers sias aur
3N AReR Tl #1 fifi-?- 0l B dow A1 39 I HETETH § ol DT AFET TR Ukl § | $O IR aY SHA TNAT ATE Y THhd A

YR & TST | H3 UTUIE Sl et 36t & fobrg A 9o & Tepd &1 WaRT IR YR ® T 3T YRd & HR-31 A gl 3R gl 3 Wpa & afa &
YR A BT HSR WRTI U HRe FT =07 94T R gR-g¥ & 320 a5 el

feuTer uda ok TER-TTER ANRY 6t UR SRF URd P HEIA! BT YSR "SYUT-TRTHNR, "Uads’ 3R ‘WIae”, gr-g oM db ugar|
ITE T FY UgHR ) I 7T Y= BT 3WR qa15¢ :

U HRAIG A1 o1 HUSR fagri A g Hior & wfvd wRr?

L. "@&pd

2. ’&r

3. Urelt

4, 3TTHA

Correct Answer :-

3) WM FM ¥, @ §T B oI F A7 T A ST 3FRAT &7 AT AT HgTahfa §1aR (a1 #1a a1 @ =t 1t af g @) & w1 ‘sferas aur
‘IS e T B AY-aR-TE B dow A1 37 G AETHTAN A H AP IFEH TR UIRTAT §1 $T IRV A SR INAT ATE BY GH A

YR & TSI | 3 UTIIE Sl el 36t & fobrg A 9o & Tepd &1 YART IR YR & T 4T YRd & HR-31 A el 3k fagel A Wpa & afa &
YR AR BT SR WRTI U YR BT G a1 g gR-gr & =0 a6 Han

fRrwrera udd SiR MER-TTEY ARRY HY UR FXF WRA $I FEIE1 BT USR ‘SU-ARGURR, “Tad=’ iR ‘9ae’, gR-g¥ 30| d& uganl
ITE T B TGP ) I T Y= BT 3w qa15¢ ;

W YR B et wrarg aeft o 82

1.TH

2.8

3. U=

4, 3%

Correct Answer :-

4) A TR ¥, Y 5T B FoRI B A1 BT GNI BT 31T § AT | TAT HeTHhia R (et ora S 3 A1 W 99 qd 8) & Herara ‘sfeas’ aun
‘IS e T B A-aR-T Y dow A1 37 I AETHTAN A H AP G TR UIRTAT §1 T IRV A SR INAT ATE BY TS A

YR & TSI | 3 UTIIE Sl et 36T & fobrg A waM & Tepd T YaRT AR YR & T 4T YRd & HR-31 A Hiaal 3R fagel 3 Wpa & afa @
YR AR BT SR WRTI YT YR BT G a1 g gv-gr & =0 a6 Han|

e uda SiR TER-TTEY ANRY HY UR P WRA FI FEIE! BT USR ‘SU-ARAARR, “Tad=’ iR ‘S, gR-g¥ 30 d& uganl
I T B UgH A IR 7T Y= BT 3w 9a15C ;

UT: R T 8 URd ® {5 W91 &7 9ahT ghar 4

L. @&

2. &

3. 3R&

4,590 @ PIS A

Correct Answer :-

. HEpd



5) M 7 ¥, RS §T B 3 B A7 BT AN BT SRAT & AT| A HeTHia g1aR (Rraet o1a $a1 3 -t Ot af gd 8) & veTerar ‘sigs’ aun
NERY IR ATl B Fidl-R-Nd ) Fowa A1 37 A1 gThT § T AR AR T9R UfRTal § 1| o5 IR A 3T TRFT 18 R Fhd A

YRA § T & $3 UTITE Sl w1t T8 § fobeg R 0 & WRpd T UGN IR WRA | 8T 11 YR & $H-$1 A Sfaat iR fagr 3 Wpa & aRkA
YR AR BT USR WRTI U URe BT =0 94T RAge gR-gv & =0 a Sam

fRwTera uda ok TER-TTEY WRRT B UR HRF WRA Bt FEIG! BT HSR "SU-HRAEIR’, "Tad” 3R Sad’, gR-gR 30 a9 g
IUYe TR B UGHR 1A TR T YA HT ST T8¢

UT: YIRA Bt B I FT BT HISR gR-gX o= I Ugar?

1. bgel ATdID

2. el HAT-ARAAIR

3. hael Udd

4. SWIH GHT

Correct Answer :-

o 3IRIH THY

6) WM A ¥, *RY §T B 3 B A7 BT ARN BT SRAT & AT| AT AT gaR (Rraet o1a $a1 3 -t Ot af gd 8) & veTerar ‘sigs’ aun
*3NERAY AR ATl F Fi-aR- T H How A1 39 S HeTHTal | por A gE g9R UfHRAl &1 $© IR A 3HY DA UG HR THha A

YRA § FeT | $3 HINTY Siell oiTelt 8 § fobeg R THM § W d T W4T R R § BT UTI YR & -9 A Sfaal 3k fagrl 3 wpa & aid &
YR AR BT USR WRTI U URe BT =1 94T A7 gR-gv & 320 b San|

fRwTera uda ok TER-TTEY WRRI B UR HRF WRA Bt FEIG! BT HSR "SU-HRAEIR’, “Tad=’ 3R Sad, gR-gR 30 a@ g
IR TR BT UgHR e IS T YR 6T IR Ia15¢ :

u=H: “gierrs’ 3R NSl weTeTar ® pa frares et uidmal 82

1. 38,000

2.18,000

3. 28,000

4. 27,000

Correct Answer :-

7) WA A ¥, RS §T B 3 B A7 BT AN BT SHRAT & AT| AT AT ia gIaR (Rraet o1a a1 1 -t Ot af gd 8) & veTerer ‘sims’ aun
*3NERAY AR TRl F Fi-aR- 0 H How A1 39 SN TeTHTl & por AR gE gOR UfHRAT &1 $O TR A 3HY AT UG HR D A

YR & TSI | 3 UTIIE Sl et 381 & fobeg A wHM A Tepd ST YART AR YR | T 411 YRd & HR-$1 A Hiaal 3R fagel 3 Wpa & afa @
YRR AR BT USR WRTI U HRe T =0 94T RIge gR-gv & =0 a6 Tam

e uda SR TER-TTEY ANRY HY UR $XF WRA FI FEIE! BT USR 'HU-TRAANR, “Tad=’ AR "Wae’, gR-g¥ 3% d uganl
ST T B TgHR ) IR T Y= BT 3TN 9a15¢ :

UA: ‘Ugd’ § S A1 GHN §7?

1. fgey wame

2. g @A™

3. eTNHTg FAH

4. HAURY HAH

Correct Answer :-



R A &, R U H FERI HR A BT AR BT SFIRAT G 4TI T HETHTd TR (PRIt w1ar $a1 & =t 3t af gd 3) & wererer ‘ghms’ aur ikt
IR TRATE Pt NE-a3-Ndl B $owI A1 37 31 AeTHTH § Fo FHATHT IGTE 9N Ufhidl &1 $© TRV a SHY TNHT 4G I TP U1

YR & TSI | 3 UTITE Sl et 36T & fobg A wHM A T¥pd T YART AR YR & T 411 YRd & HR-$1 A Hiaal 3R fagel 3 Wpa & afa &
YR AR BT SR WRTI YT YR BT S a1 g gv-gr & =0 a6 Han|

e udd SiR TER-TEY ANRY HY UR P WRA FI FEIE! BT USR ‘HU-ARGARR, “Tad=’ iR ‘S, gR-g¥ 30 d& uganl
STE TR B UgHT A IR 7T Y= BT 3w qa15¢ ;

U= SNSRI forres g1 IR U HeTeTay 82

1. sforae

2. BT

3. 81

4. Rasd

Correct Answer :-

9) WM UM #, Y §T B 3T B A7 BT AN BT SRAT & AT| AT AT A gIaR (Rraet o1a a1 1 -t Ot af yd 8) & veTerar ‘sirgs’ aun
*3NERAY AR TRl F i-aR- 0 F Howi A1 39 S TeTHTl & por AR gE FOR UfHRAT § | $O TR A 3HY AT UG HR AHha A

YR & TSI | 3 UTIIE Sl et 361 & fobeg A wHM A T¥pd ST YART IR YR | T 411 YRd & HR-$1 A Hiaal 3R fagel 3 Wpa & afa @
YRR AR BT UHSR WRTI U HRe T =0 94T Ry gR-gv & =0 a6 Tam

e udd SR TER-TTEY ANRY HY UR $XF WRA FI FEIEG! BT USR 'HU-TRAANR, “Tad=’ R "W, gR-g 3% d ugan
IUYe TR B UGHR 1A TR T YA HT ST qA18Y ¢

T gAY B A2

1. HATHER

2. TTTR

3. AR

4. AT

Correct Answer :-

10) WM 9 ¥, A g F FowI F A BT A BT SFRAT S AT FAF TgThia R (et w1 $a1 @ -t Y 99 gd }) & wgreran ‘sims aur
‘ISR IR T B A-aR-Td B dow A1 37 G AETHTAN H H AP IGIEH TR UIRTAT 81 T IRV A SR IRAT ATE BT GH A

YR & TSI | 3 UTITE Sl et 36T & fobrg A waM & Tepd T YaRT IR YR & T 4T YRd & HR-$1 A gl 3R fagel A Wpa & afa @
YR AR BT SR WRTI YT YR BT S a1 g gv-gr & =0 a6 Han|

fRrwrera udd SiR MER-TEY ANRY HY UR FXF WRA FI ! BT USR ‘HU-ARGANR, “Tad=’ iR ‘Sae’, gR-g¥ 30 d& uganl
ST T B TGP A I T U= BT IR 941y

U: §IFR $T HETHTA 82

1. sforar

2. 3for s

3. g

4 F U F

Correct Answer :-

11) TRA TAM &, R T F) F3R B A7 BT AR BT SFRAT G AT| T HeTHia SR (Rrrest wra Sa1 & =t 3t af gd ?) & #erera ghms’ aun
SRR AR TaTEl B R-22-NQ B bowy A1 57 I AETHTA) A P TP AFTE FWR UfRTAT 81 T IRV Y S IR[AT UG B FHa A



YR & TSI | H5 UTITE Sl et 36t & fbrg A 9o & Tepd &1 YT IR YR & T 4T YRd & -3 A gl 3k gl A Wpa & afa &
YR AR BT YR WRTI U YR BT g1 a1 g R-gr & =0 a6 Han

fRrwTera udd SiR MER-TTEY ANRY HY UR P WRA $I FEIA! BT USR ‘HU-ARAURR, “Uad=’ 3R ‘Sae’, gR-g¥ I a& uganl
ITE T FY UgHR ) I 7T Y= BT 3w qa15¢ :

T: ‘WRTHT’ Xeg | B4 AT THN 82

1. g9

2.8

3. AegEY

4. FHIRT

Correct Answer :-

12) WA 9 ¥, A g H) FowI F A BT A T SFRAT S 47| FAF TgThia R (et w1 $a1 @ -t Y 99 gd ?) & wgreran sims aur
ISR URaR AT B A-aR-T B dow A1 37 G AETHTHN H H AP IFTEH FHR UIRTAT §1 T IRV A SR INAT ATE BT TS A

YR & TSI | 3 UTIIE Sl et 36T & fobrg A wamM & Tepd &1 YaRT IR YR & T 4T YRd & HR-31 A gl 3k fagel A Wpa & afa &
YR AR BT SR WRTI YT YR BT G a1 g gv-gr & =0 a& Han|

fRrwrera udd SiR MER-TEY ANRY HY UR P WRA $I FEIE! BT USR ‘HU-ARAANR, “Tad=’ iR ‘9ae’, gR-g¥ 3% d& uganl
ST T B UGHR ) T T U= BT Ik T8¢ :

U: 3FRET XMeg PT FAMTH Weg HT 32

1. hdel 3eaT

2. el IgUH

3. el fATeT

4. SWIH |

Correct Answer :-
o IWEH AT

13) T T H, R gU 1 owy BT A7 BT AR BT SFRAT S UT| AT HETHia eI (et 1er So1 & 7t 1 o g ©) & Aereran ‘siegs’ aur
3N AR Tl # Tifi-2- 0l B dow A1 39 I HETHTHl § ol DT AFET TR Ukl § | $O IR A SHA T[T ATE Y THhd A

YR & TeT | H5 UTUIE Sl et 36t & fobrg A 9o & Tepd &1 WaNT IR YR & T 4T YRd & HR-31 A $iaal 3R fgel 3 Spa & afa &
YR AR BT USR URT | WA WRA $T =19 a7 fag gR-gr & =0 a& Sal

fRuTer uda ok TER-TTER ANRY Bt UR SR% URd Pt HEIA! BT YSR "SUT-TRTHNR, "Uada’ 3R ‘WIae”, gr-g oM db ugar|
IUGT T FY g T I T U FT IR G5 :

= : fag 2rsg &1 Wi 2reg Fam g

1. feargraly

PACECIC)

3. fareprly

4. fage

Correct Answer :-

14) TR THM ¥, Y T B F3R B A BT AR BT SFIRAT G AT GA HETHTd R (RRresT w1ar $a1 & =t 3t o gd 3) & wereran ghms’ aun
“SER IRaR MHaTE B A-aR-0E Y dow A1 37 G AETHTAN H H TP AFIEH FHR UIRTAT §1 T IRV Y SHA INAT ATE BT HH A

YR & TSI | H3 UTIIE Sl ot 36t & fobrg A 9o & Tepd &1 W1 IR YR ® T 4T YRd & -3 A gl 3k fRgel A Wpa & afa &
YR AR BT SR WRTI YT YR BT G 7T g gR-gr & =0 a6 Han|



feaTerg udd ofk TER-TTER ANRY F1 UR FRF R Bt BT BT HSR "HU-ARTANR, “Tad 3R "WIad’, gR-g 30 a% uganl
IUYe TR B UGHX A1 YR Y U BT SwX Ja15¢ :

U HRA & PH-PH & HRAIT AIfed BT HSR fFam w12

L& A B T

2. Fae HAAT

3. %had fagEr o

4. ®fr 3R fRgEt a&r a

Correct Answer :-

« et 3N fagEt S &

15) ¥ FH H, R gU 1 Howy BT A7 BT AN BT SFRAT S AT| AT HETHia g (et 1 So1 & 7t ¥t o g ©) & Aereren ‘sfgs’ qur
ISR TR THaTEl B Nf-a2-Nd B Fow A1 57 I AeTPTA | oo AP ISR TR Ul §1 PO IRV A SHY NI A6 IR Tha A

YR & TeT q 3 YTUIE Sl ol 36t & fobrg R oo & Tepd &1 WaRT IR YR ® T AT YRd & -9 A gl 3k gl 3 Spa & afa &
YR AR BT USR HRT | WA WRA $T =19 a7 fag gR-gr & =0 a& Sarl

fRuTer uda ok TER-TTER ANRY 6t UR SRF URd P HEIA! BT YSR "SUT-ARTANR, "Uada’ 3R ‘WIae”, gr-g oM db ugar|
ITE T B UGHR 1 T T U= BT Ik qd15¢ :

U: URA 3t HEI-ai fras! IR $3d g 3= I ugr?

1.3 & PIS e

2. feArery uda 3R ARt gt

3. had e uda

4, pad GERT

Correct Answer :-

16) 3fd iaf¥el # 3Fd 3 & @S,
THe €t g Wil 98T R 93-93 |
RERTTAE A 31 9T g8t Wt
3nft -3 # 3ue Bt el gafti
WAN P ATIN R BT,
T8 7w ? % i agw & Rm W

I U B UgHR Y ID WA 916l YR BT SR qa15¢|
U : @3-92 W A P A A g2

1. i
2.5 A HIE AL
3. fae

4. gTIard

Correct Answer :-

17) 3Fd SiaRe A eFda e @S,
THe § TaTg Wl 991 I T3-9 |
RERTTAE A 31 auT ggt |t
3t sr=g-3iw | 3w gt =er |aft
WAN P @ ATEIN R BT,
98 7 & 6 & Ags & Re W

I U B UgHR 1 ID WA a1el YR BT SR qa13¢|



U 3id BT faeT q1sg o ghm?
1 URH
2. 37Tl
3. @faa

4,31

Correct Answer :-

18) 3rd Saler F sFa T E @,
FUe € TaTg W 96138 T3-T3 |
RARTETE H 31 9T T8 Tt
3t -3 # 3y g Tel gt
WA P ATIH IR BT,
I8 79w ? 6 i 7gs & Riw 7Y

I Ui B UgHY Y U@ oF ardl YR $T I garsu|
UL 3 T....... TS’ UTHRT § B T PR 82

L3H q PIS T

2. HATHID

3. Tepifeh

4. §ueh

Correct Answer :-

- 5 A A A

19) i JaRer § sFa T @S,
THe § TS SN 9gT 78 TS|
AR H 31 quT g8 |t
3ft -3 # 3rue g wel gafti
WINPT AT IR BFTW,
€ aw & i o agw & Rig W

IR U Bl UgH? ) YD 9 91d U= HT 3R qars¢|
U=H: T@aTg’ W @ &1 g T 82
L3 A

2,979 |

3.599 |

4. 37T F

Correct Answer :-

s TI W

20) T oaRer A sFA 3T R @R,
THe €t g o 981 IR 93-93 |
RERTTAE A 31 auT g¢t |t

3t s | 3w gt Ter |aft

WINPT ATEIW IR BFTW,
T8 A9 ? 5 Wl 7w & Rw Wi

ST U B UgHR A I@ WA a1e U= BT SR qa13¢|
URH: 3iaivel’ Jeg BT ygigard! Weg I AT 781 8?2

1.8



2. 997
3. HITA

4. AHHATS T

Correct Answer :-

21) 3 3iafve § IFd da & WS,
THE § TIaTg Wt g1 ¥ TS|
RERTETT 9 33T 9T T8 Tt
3t s=—3iw ® 3ruw gl et |t
WAGN P ATPH IR FT®,
8 vy & 5 o agw & e wv

ST Ui B UgHY Y U@ 9 aTdl 4R $1 XI5l
U: ITHTR A B W1 82

1.7E

2. ¢adn

3. gl

4. @R

Correct Answer :-

22) 3ria siafer § eFid 2a ¥ @S,
qHe 8 TS Nt 99T 78 TS|
RARTGTE H 31 9uT 981 |t
3t s ® 3ruw gt =er |aft
WA P AT IR FTW,
T8 A ? 5 &l 7gw & R wv)

ITF Ui B UgHY Y U 9F ardl U $T IR JaTgu|
TEH: 49 $T UATIar A I A1 T 32

L. gadr

2

3. gea

4. 99

Correct Answer :-

23) 3ra e § sFd g @,
HH € TaaTg W 991 I8 I-T3 |
RERTTAE H 31 quT g8 |t
3t srsg-3iw ® 3ruw gt =er |t
WA P ATPH IR FTW,
T8 agw & i &t agw & g w

IUYT U B UgH] R U 9 9T YR BT SR T3
Y: 391, TUTG A P P 901 &2

LR

2.7

3. 8T



4. Mg

Correct Answer :-

24) 3q af¥e # eFd 3 & @S,
THe § TS SNt g1 7§ TS|
RERTTAN § 331 4T d¢t g4t
3l -3 # 3ue Bt wel gaft|
WAN P @ ATEIW R BT,
98 7w & 6 & Ags & Re W

I UL B UgHR A IR WA a1el YR BT SR qa13¢|
U=: 3941 [5aP W@rd & o @8 82

1. QOUHRY FHJ &

2. aifeat &

3.¥8 &

4.89 &

Correct Answer :-

25) 3q saler F sFa T E @,
THe § TIaTg St g1 ¥ TS|
RERTTTE F 381 4T Tet Wi,
3t s ® 3ruw gt et |aft
WAGN P ATPH IR FT®,
T8 v § 6 o agw & Re WX

ST TEiY B UgH Y U@ 9H ardl U $1 X IaTsu|
UR: $3 A 9aP! TP N 90 & g i g1 8, FfP 2
1. AT 3o 3R g ¥

2. AIST HT Ml IO Fedal W AR &

3. AIST BT PIA E I BT B

4. AT IEHATTSIG Ol B

Correct Answer :-

o AT T SNaet 3o FemRar W AR &

26) 3rd Sfaler F sFa T @,
el €t T9aTg il 99T T TS|
RERTTT F 381 4T Tet Wi,
3t s=—3iw ® 31U gt =er |t
WAGN P ATPH IR FT®,
T8 v § 6 o agw & Rg WX

ST THiY B UgHY Y U@ 9H ardl YR $T IR gaTsu|
U: HA & IR T B § W

1. Th-g@ & fay &

2. Uh-g@ ¥ e |

3. TH-gE & wH 3T

4. ThH-g@ & B Hlt F 31T

Correct Answer :-



27) 3 3iafve § IFd da & @S,
THE § TIaTg Wt g1 7§ TS|
RERTGANE § 331 4T d¢t 9t
3t ersE—3ich & U 8 ugl ||
WAG P EATPH IR FT®,
6 g & 5 < agw & g wv)

STF U B UgHR Y IR 9H 9 YR $T IR I3
T: B B STAR, AT $Y ST §1 FIRT?

1. g WITHRY

2. el gAY

3. hadl HlS T arell

4. SWI AT

Correct Answer :-

o 3IRIH T

28) 3q Sfaler F sFad T @S,
THe § TIaTg Wt g1 ¥ TS|
RERTGAN § 331 U7 d¢t 9t
3t 3=—3iw ® 3rUw g et |afti
WAGN P ATPH IR FT®,
98 7w © 6 o Ags & Re WX

STF U B UgHR Y IR 9H 9 YR $1 IR I
U: 99 $i fHas fag sfi=m afgee

1. 39 & fow

2.7 & fow

3@y & fou

4. 91TS ¥ forT
Correct Answer :-

. IS F AT

20) 3 3iafve § IFd da & WS,
He § TaTg Wit g1 ¥ TS|
RERTETT 9 33T 9T T8 Tt
3t sr=—3iw ® 3ruw g et |aft
WAGN P ATPH IR FT®,
8 vy & 5 o agw & e wv)

ST TEiY B UgH? Y U@ 9H ardl U $1 9K g5l
U=: U P SO | S Te1 A1ge?

1Los-arR ¥

2. HHAAT &

3.f0g @

4. FAA F

Correct Answer :-

. WEAR ¥



30) 3 SaRer A sFd T T we,

e & TaTg Wil 91 @ TS-T3 |
RARTETE § 31 9UT T8 Tt

3t s ® 3ruw gt =er |aft

WA P ATPH IR FTW,

I8 79w ? 6 i 7gs & Rw 7Y

ST U B UgHR A1 I@ WA 1d YR BT SR qa13¢I
WR: UG UIRT & WIeHH | B T W A7 T08aT 82
1. RIYHIRAT

2. frenfaan

3. A

4., JT_ATAAT

Correct Answer :-

Topic:- General Sanskrit(L2GS)

Y 3Ide Tdaed: P afed |

4.

Correct Answer :-



IR TSl TeaeT YSHR I -

AR W s Fefeae: FFs@ adfed | TAY SIS IRARET AT
Sl a7 HLI | § FAY FAERY HHd: afd | IRAX Fa: o
Toigel TTAEiod | HieISON: SASSEATH el Fdled | SASIIRT dle]
fEeafea | a4 ¥@ & ®A Fafed | AT AFSo AA™H 3FaH- &
W HAvIA: d@f8fE ofefd @ | IRER - [Uar, Aan, g, giedr: @-
Tgehcied greidied | Uq: Seeh: [Odreg: 3Tad, Seer o Oamer 3Tad |
AT TOUaT ACGHE: ®2d, AGAT 9 ATHG 20 | WaHged [Oar
q ulaEAe: 3249, AAHeT UdT T TATTHE: F2Ad | 3 SAhed
ATl [Uqear: 3Tad fheq AT 1T Aol F2ad | U A= Ogeaar
3 3 T ATG: ARG ATISadT 3T | Affed: g Afaaa: wrad
T T AT FIS | TAET A W 3TAd, gfed: 99 alfeT: 3Tad
| 90T faarfear & g, H, aRT, Ferd ar Hedd | & faarfe:
TRY: gfd: &l a1 3Thd | 3, Afedn: gid: 3ged: 3Tqd | gied:
Afded SITATAT 2 | AT Welal: eaTel: T2AT HEI eaTell H2Ad |
AR Fafsfd drygae: wewed @A HATT |

HIASSN: TASSIATH 3Me Pdfec 37 IHETH, Aeced 37 -

dlecdidaed



AIIATH

3.

AEIRGE]

-
4.

Correct Answer :-

IIEIATIAH

vellent afScar srenfafésesy weaey A gaad -

4)

T Foaoreiien: TATfe-Tel EhARa: |
HIUSE: elellallseled NN rsHhaT ||

IOTSAdTed ool Sl S dcdide |
alfocfasiissiacga: Yerd fagr: & |

3AdT HUSC: Q“IHFJIFII 38{d-

R_for

1.

2. 2

| TeTeeTar

ASHAT

4

Correct Answer :-
ASHAT



TR=te gfdcar UeaEd Qéﬁdgcd{ qaad -

I g e T 36l | 3T f9rad IR Tedd | 3t foema:
e AEfd | GRS AEHAA Teg: dNIed fdefear: #afed |
ﬂﬁﬁﬁfﬁa:aﬁﬁlﬁﬁ?{ﬁmqﬁw:miﬁﬁﬁlm:,
ofcT:, TeATed FHRaANN: fdficd | Udel: FEAET GoeUH e 37arg
fea] garRafa |

SccdAT: BTAT: TeAIdshlel FATGATT UTeh T 3fcasafed | & 2l Fedl
Goadldsl hdfed | dae] SATAH shedl Flld Faled | daelecd 397 €ATcd]
forf>ere, SteraTeAies Fafed | Tdgelea o STAT: ¥@UG Yofed | TIE:
d T & AT e | FAEd FAET 3A9: To0s: safd | faLva:
drsHarel  3THEdT S | dal TTee: &Ton BRI 3Red | gaied-
HAAT, 9T HeAThel: #Aafd | daT Sfell: TaHREdesd: ¢ gfdfdaded
| TATEA, HY fdeantder: Hisey Hisfed | aar g3 3 Tesid
el T Yeprel: FERAUT: sfafd | der ifavea a: safa | wE gag
feeImy 3euer: JEid | daT ATATOT, FINOT, IUeAT, Fellied o
HHNOT ATBedla Teded | J&T Sell: TaUfed |

dededid 38T af-eaarsiEa -

dd + 3Peledid

1.

| 6T + A




| + 3MTefoec¥A

dal + sTediH

4

Correct Answer :-

dd + 3elecA

TRt gfdcar UeaEg QAG@M@ gaad -

ﬂﬁﬁmﬁﬁﬁsﬁ@ﬁaﬂ:mﬁaﬂﬁﬂlﬁgm:mm
Fel’ a1 F2AA | § FAY cFqeny AfUFa: wafd | aRan wan: sgwa:
Foieel Saagiled | HiIsel SASOEAA Gl Fdfed | SASSIRT dle,
Eeafea | ad ¥d @ & Fdfed | T MFsoid AAAH 3Fad- &
T ARG @R oo & | 9Ran - fodn, #Arar, ¢, gigdr: & -
Fgehcied Urerdied | fOq: S Mame: 3304, oo o Uaser 3234 |
A T ATATAE: 2, ATTATT T ATHS H2ad | Oasesy fAar
q ufarAe: 3ad, ATdHeE Oar 7 9ATdHe: $2Ad | 37 STdhed
T ged: 3Tad e AM: AT Ader: Fead | g AT Dgsaar
3T 3T T ATG: AT AGSaAT 3T | A g e Faad
g-ai‘r%ramﬂﬁzﬁa:wﬁl gawgzr:q‘rsr:mﬁ, g%é[g‘:ara‘i‘%‘:rmﬁ
| g&¥oT faarfegar € g, AR, SR, erd ar Head | & faarfe:
gey: ufd: ofell a1 3ead | 3y, A afd: Aged: 3=0d | gl
TfdE STATAT H2qd | AT Fele: ATel: AT HEIeI eaTell hedd |
R Fafsf ey WeERed F A T |

30 Y cadeNy ferhd: stafd -



Correct Answer :-

IRTsE IfScar Ul ASHAR JIaad -

AR UL AT FelEeel: Freg qdfed | FdY SIS IRARET A
Sl a7 F2IS | § FIY FGERY Hp: Hafd | IRAR FaT: g
Eoitel TAGEliod | HieISoN: SASSIATH el Fdlod | SASIRT dle]
fErealea | & &6 & ®F Fafed | FAT AFSu MAAH 3Fad- &
W HAvIEA: A@fAfE o @ | IRER - Udr, Aran, gar, giiar: -
mﬁarmmﬁrlﬁqzm:ﬁamg:mﬁ,aﬂ?ﬁaﬁamﬁmﬁl
A TUaT ACHE: S, AGAGT I ATGHG 20 | UaHEeed [Oar
q ufarAe: 3304, ATAHE a1 T TATTHE: F2A | 3 SAhed
AT [Oged: 3Tad fheq A 1aT Adel: F2ad | O a1faeT Aqgeaar
3 37 T ATG: AN AGsadr 34 | AfeT: g afdea: sraq
A T AR Fead | A U Ui 3T4d, gied: I alfgd: 3Tad
| g&¥7 faaTfear S Uodl, S, aRT, Ferdl ar wead | & faarfed:
TRY: Ofd: &l a1 3T4d | 7, sfeean: gid: 3ged: 3qd | gied:
afdEd SITATAT $2dd | HTATAT: WeleY: eATel: AT HEIEY ATl H2Ad |
AR Fafsfi drgae: e 7 HITd |

ATGHATAT T4 e -



9)

AR AT Sheeailehled] H&ar 3Ted-

1 scHgAlca] e aae aH
| TSIl IHEa,

STl ISCHEaH

3
SeAdlcascHE o
4,

Correct Answer :-

3TSCerAlcaIScHE o

10)

TR=a¢ gfdaar uasa Q_L-.gagcdi I -

g v qaedl & 3eafa | 3 f9rad T Tedd | 3 fAema:
el ARRfd | AR AR des: dnied faecar: safed |
oy giee: serfd | gIA 3fed evear 9feion #eRd Fdfed | oRa:,
oId:, AcATed gHAN: fafeica | Jael: HUAGT ooud NER 37ay
fge] warRAfd |

ScdAT: BHET: JATdeel A 9k Ua 3fcdssfed | d effe Fear
grauldel Fdfed | TG SIAH Fedl Tl Fafed | Tealeek 5o ATl
fepT>re, STerdTeligeh $dfed | Udaeledd o ST FGUIS Uofed | agEh:
d ¥ ¥ HAT orfed | AR GAET HA9: vHUs: Hafd | fada:
AH@IeT J HEEAT A | &l TTe2l: AT BRTHA A5+ | FATE-
HHIATT UTh HEATHT: Hafd | d&T FoAT: TaFRHITAASY: 9§ fdfaaded
| TAreHe FAY Taeieer: Hisery Hisfed | Jar g3 3drEe st
el T ehrer: &Rl safd | der sifavred i safa | &t ey
feermy 3feus: JeEfd | der AMATT, FIRIOT, 3udart, el =
HeIFRUT HTBIeda Ted | del SFel: Ta9fed |




, AT

Correct Answer :-

11)

IRTeE dfdcar 9oty YSHR FIdd -

AR T s Feieae: FFs@ adfed | TAY SIS IRARET AT
Sl a1 FLI | § FAY FAERY HHd: Hald | TRIN Fal: e :
Eoitel ThAEiod | HieTSol: SUSSEATH el Fdfed | TSI o]
Eoeafea | a4 ¥ @ &8 Fafed | FAT AFsoi MAAH 3Fad- &
 HAvIA: d@f8fE ofefd @ | IRER - Uar, Aar, g, giear: -
Tgehcied Grerdied | U Siefeh: [OdrAg: 3Tad, Sofet o Oamser 3Tad |
AT TOUGT ACGHE: H2d, AGAGT 9 ATHS 240 | WaHeed [Oar
q ultaEAe: 3Taq, AlAHER a1 T TATTHES: $A | 3T SAhed
AT Uqed: 3Tad fohed AT: &A1 Aol F2Ad | U AT Aqeaar
3 31T T ATG: AN ATGSaar 3Tad | Affied: g sfaaa: srad
T T oA FeIS | TART U W 324, gfed: 99 alfeT: 3Tad
| &80T faarfear & goil, #, aRT, Ford ar wedd | & faarfe:
TRY: Ofc: #al a1 Fegd | Y, A gfd: 3ged: 3Tqd | gied:
qfded SITATAT $2Ad | ATATAT: Welel: eATel: TAT HEIGI 2Tl H2Ad |
AR Fafsfd sryae: wWeERed FA HAT |

TFET 3T TIANTET -
daef

o9



12) .
eellehl gfScar renfafesesy eaed Agdaccl FIdd -

Tdcleifel $[dTfel HAOcgIeRT |
3G Pl FId: U8a: Telaeder |

FAcd: Wl Al-ad fhfagied gasea |
AT GRS W g AOEOT 59 |
Tafag e va fcar #fF uiaH -

| STelhUT 39

zﬂia“l‘j”?’a

_ ¥ AR 59

, T STehUTT 4
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IRTee IfScal Teas YEHcR I -

g vAd ol e 3eafa | 3 f9FaH, 3IReEd Tead | 34t feema:
PR AR | FUE HEHAA eq: dRed fde[edn: sdied |
qaig gfte: omrfd | gFA 3fed gscar 9o @®eRd $dled | oRa;,
o, AT FHRaE: fAficd | gae: FEAET FIeuH e 376y
fee] garafa |

3cAT: BET: JATdRel FAGATT Uk Ua 3icdsoled | J i Fear
Grddldsl Fdfed | o] SIAH Pedl Tolel Pdied | daedodd 57 edTeal
fenf>eeg STefareTiceh Fdfod | Tdgaleck o BMET: FTGUG UoTed | TIEH:
d T & HAMT ehlled | ALl AT 30dT: T9Us: siafa | faeva:
drsHerel o 3HEAT AT | d&T UIedT: GEToT BRI 3J5ded | A
THAT UTeh HEATHTT: Hafd | T Tl TaFRITAAFT: 3§ Ufdfaaded
| TaTeHAs gAY faeaide: $isery hisfed | Jar g3 edrEe st
el TE YTl FEREUT: #fafd | dar IfRiea A safa | TE qag
feermy sfeesR: gefd | dar ArATYr, FERIfOT, 3udant, garfd =
HehRUT TSI Thed | JaT Sl EaUled |

‘W 38T FudasfEa -

Lk

4
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foh. er.osaerdsha
2.

_fop. o1, wTERRIAHA

| fop.eracaaerasa
Correct Answer :-

for. erusaAdRA

eellehl TfScar renfafesesd eaed Agdaccl Faad -

o HoaRUTTel: ElieATel THAShAA: |
AUSCY: YeAell=llssedRANASHRAT |

Iorsddred oot Sl S dedidd |
i fasiissiacge: qerd fagy: & ||

TE 3T [AUSFHAAE: T TId-

QZIT.,EIQUIQﬁT-l':

1.

2.
3. T
GIEE

4.
Correct Answer :-

) QZIT.,EIQUIQﬁT-l':



TR<ie gfacar sy QAﬁdgcdi gaad -

ﬂﬁﬁmﬁﬁﬁsﬁﬂﬁaﬂ:waﬂﬁﬂlﬁgm:mm
Fel’ a1 F2AA | § FdY cFaeny AfUga: safd | qRan wan: sgFa:
Toigel Saplied | HiASN: SASSEAH G Fdled | SASSIRT dled
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2ellehl TfScar TGS ety qgece’ Jadd -

T 1T FAONIIIRY |

G FEATT ST T87d: Jergeda |

Acd: W ledd [hiAGRd eeisad |
AR gafac uid FF ATOETOT 39 |

FEARH 3IET UsId: dAT Jold: -

HEATT ST
3.
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HEAET ST

eellenl gfocar srenfafésesy e gﬁagmi AT -

Udeleiifel ${dTfel HHOcgIeRT |

3HE HoEIET SIT: IHT: TeldeddT ||

FAcd: W Alad fhagfea e |
AT gafAg Wid 3 AfOEOT 59 1



voliehl afScar IUATESerT Uy Ygaccl AT -

of HTTUTRITe: ElieaAel TAShAEE: |
HAUSCY: Yelollalls e aNRTINASHAT ||

aorsddred oot Siidl Siid dcdidd |
alfviciasiissracoa: qged fagy: & |

decatdd, Tay el -



el ufscar srenfafésesy v grs\gmi AT -

T T FAONIIIRY |

3G FEATT SHId: U8a: JargedaT |

Acd: W Aledd [hAged gado1d |
AT wafAc uid FF ATOEOT 39 |

3719 FHgAIGAC #1dfd-
_ gafor
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, _raofy

QUG
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Correct Answer :-

_ raTofY

, TsreiE@dor

Correct Answer :-



23) .
voliehl afScar JrafAfésera weaed Ygaccl AT -
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qI: v qaedi G 3eafa | 3 feFaA 3R Tead | 3 fema:
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TRt ITacar UeaEg Q:I;&J;I’cd{ gaad -

g: v qaedn TR 3eafa | 3%y foFad ReEd Tead | 3 Hema:
eUdr AT | FAET NOHAS Teq: dRied fde[edn: s@fed |
gAY giee: Serd | gd| 3fed evear affion weRd Fafed | e,
ofcT:, IEHTRT gﬂ?l’lﬁ?r: afefea | gaa: FYATT FI-eHd e mﬁg
fea] garafa |
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eollehl afScar reNfAfsery ey gl AT -

o o ureiTel: EIieATel HeshAd: |
AUSCY: YelollaAlseed TN eISHAT ||

IoISddTed ool STl Sd dedidd |
gl fasitsetaese: eqged fagu: &=l |

TSI 31 &TAT 3781ac-

Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “gyard” (gfiut) sfiat & oy o1 wwgd 82

1. It does not need oxygen to survive. / 38 SNdd @l & folT TSI &7 3TAIDRAT A6l Bl

2. It is able to tolerate a wide range of altitude. / T& FaTS$ Pl TH faeqd 4@e # Hed Bl A HETH T &l

3. It is able to tolerate a wide range of PH value. / IJ& PH HATA EﬁTﬁW AT P T B F TTH BT 8l

4. It is able to tolerate a wide range of ambient temperatures. / IJg gRaeh argaAEt Hr v ﬁw 8[@FIT Ga Hedd T H eI '%'?IHT %’I

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. /| g U LA aAraATAT HI Th ﬁﬂﬁ?—f 8[@7*” Ga) g A A TeIH 'e’-’l?ﬂ %’I

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2. Indifference to the authority of the Vedas.

3. Denial of efficacy of rituals.

Frafifad § @ 919 dig v ok 99 u+f =1 ¥ Rie g ur?



1., TORT 3R YT Y TR A | q=_

2. 381 & PR F witr Ierft=ar
3,38 FT TUETHINGT & PR

1. 1only / %hadl 1

2.1and2 / 1 TG 2

3.2o0nly / Hdd 2

4.1,2and3 / 1,2 Td 3

Correct Answer :-

« 1,2and3 / 1,2 Td 3

3) The position if the sun, the earth, and the moon are in straight line is called: / ﬁtf, q%ﬂ 3R gHr o W Far A ﬁe{ R fRAufdH Dol SITdl %:
1. Cliff / T

2. Conjunction / gﬁ

3. Seiche / STeraTeel A (

4. Syzygy / gfafagfa fig )R

Correct Answer :-

- Syzygy/ gfafagfa ﬁ% ReTsieI(

4) The celebrated monarch known by the epithet "Devanamapiya Piyadaasi” was: /9T qUTe S Iy “Sa Uy faewi 9m 3 o e 3
1. Kanishka / &fas®

2. Ashoka / 31R1Teh
3. Chandragupta Vikramaditya / EIET'IH AT
4. Akbar / 3ThelX

Correct Answer :-

« Ashoka / 3116

5) Kanishka’s rule extended over Afghanistan and part of north India and he had established two capitals, One was
Purushapura. Which was the other? / &fas® T aTHa FHafaea 3T 3 IR & REY W Reqga a1 3k 398 @
Teratfadt 1 TuTgar A off, Fad & v off e gEd Fia @ e

1. Taxila / J&IRAT
2. Mathura / #YIT

3. Pataliputra / UTCoIg

4. Sakala / Hblell

Correct Answer :-
« Mathura / #YIT

6) Under which dynasty, earliest inscriptional information on land grants is provided? / fF& @ & 3iaeid, i regarT
W g98 94H ReeE T=a vae i i g2

1. The Mauryas / E:IE)



2. The Satavahanas / HTddlged
3. The Sakas / [Ah
4. The Guptas / 94

Correct Answer :-

o The Satavahanas / Hiddlged

7) The Minimum Support Price was introduced in India in the year . | SgeTaA AT AT AR # a¥
# qer fram I ami

1. 1964

2. 1984

3.1974

4. 1954

Correct Answer :-

« 1964

8) What is a favourable balance of trade? / SATIR & TF Heldhel Hcloldl AT 87
1. Exports equals imports / T 3maTd & aR&R §

2. Exports must be greater than imports / Sta 3maa @ 31 @9 =fRe

3. Increase quotas / PICT Jeru

4. Imports must be greater than exports / faTd &I gerer 3 3mard 3% g @ifu

Correct Answer :-

« Exports must be greater than imports / e 3maa & A% g arfee

9) aimed at providing credit or loan and other facilities to the small and marginal farmers, agricultural
labourers, artisans and small entrepreneurs in rural areas. / FT 35827 AT A # B 3k Waw e,
PR Ty, FRIRT AR B 3eIAA A %or a1 £0T IR 3T JRUT geT FET {

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / TGTeT TTieft 51T Aol ISR TRET Sififam (Feam)
2. Prime Minister Rural Development Fellows Scheme / UUTAHIT AT faera el It

3. The Rural area Regulatory Board / ITHIOT &1 Aamare EIE)

4. The Regional Rural Banks / &1 IO §&

Correct Answer :-

« The Regional Rural Banks / &/ Imaor §&
10) What type of stream pattern develops on a dome type area? / fF@ YK FT 39qmg Ut 3137:.' F YR & O # Ffa gar 2
1. Radial / 31 (¥3ae)

2. Parallel / THATTR

3. Dendritic / GATPIdD (JETTHR)
4. Trellis / STl AT

Correct Answer :-



« Radial / 3T (f3ae)
11) In which river valley hominid fossil has been discovered in India? / #Rd & fF¥ A =&t & QAT Sharw i @ i 7§ &2
1. None of these / 3T & EFT% BRI

2. Ganges / e

3. Indus / ﬁﬁg

4. Narmada / S¥der

Correct Answer :-

« Narmada / Sder

12) Who reviews the distribution of revenues between the State and Local Governments on the one hand and between rural and urban
Local Governments on the other? / T 3T T 31N TR ¥R & &iF 3k {Hff AT aEhor 3kt Al T R F ST
g F RAaRor A welem Hla war §2

1. District Finance Commission / fStelT o=t 3maier
2. Union Finance Commission / g o 3maer
3. State Finance Commission / =g fa=r 3T

4. Zilla Parishad / STelr aRug

Correct Answer :-

« State Finance Commission / Ted T 3T=ter

13) Who is the head of the Indian Republic? / iR 0T & YH@ FieT §2
1. President / Trgtr%

2. Prime Minister / ST

3. Parliament / TG

4, Judiciary / =TTIqT{oTeRT

Correct Answer :-

« President / ITgUfl

14) Who among the following are not the women Presidents of Indian National Congress? / fa&faf@a A ¥ P AR TI‘?RT
| #1 Afgem sreger 7@ o4

1. Kamala Devi Chattopadhyaya / @daTeliGdr ﬂ?.:ETEIT‘ZTJI'lT
2. Aruna Asaf Ali / 31%UT 3% 3Mcll

3. Annie Besant / Tell S¥C

4. Sarojini Naidu / HUTSA AMIg

Correct Answer :-

« Kamala Devi Chattopadhyaya / haTellcar ﬂ'c}ETEIT‘ZTJI'lT

15) Who is the author of “Deschooling Society”? / "3t lﬁfﬁ’ﬂ A" F d@H HieT &2

1. John Locke / i ofieh



2. Jacques Rousscau / o &
3. Jean Piaget / Shel TOamel
4. Tvan Illich / a1 sfora

Correct Answer :-

o Ivanlllich / 3dId § oI

16) Who said that, “Non-alignment is more or less a residue of historical circumstances, we cannot align ourselves with the West, with its
colonialism, and there is no question of course of joining the Soviet bloc”. / &t &gT &, “ﬂ?ﬁ'{'ﬁ'&'ﬁﬂ, wamster e aRfEgfaat
FT AT AT FA HIAY B, 67 T@E F 3uMAIErE a@ o= F 7Y 3 78 7Fq, 3R aOfga qe F afva a9 w71 RS
darar § 7€ §1”

1. Nehru / &%
2. Krishna Menon / §SUT Al
3. Tito / feer

4. Nkrumah / =R ATE

Correct Answer :-

« Krishna Menon / §UT A

17) Who is the overall in charge of the efficient and fair conduct of elections in the concerned constituency? / wafaq e a9 &
gorEt F Fad AR frsger garer & FHT ToRY Fh §2

1. Polling officers / el TABRT

2. Returning Officer / aTa=ar (Refdm) ifawry
3. Presiding officers / fToRiTe 3TfASRY

4. Visiting / 3-11711@?5

Correct Answer :-

« Returning Officer / RaTa (Refdm) 3rfmry

18) Who was known as “Hazar Dinari”? / "goIR f&adl" & w7 & Fiq I o 22
1. Balban / defdel

2. Razia / Xforam

3. Mallik Kafur / #foes &g

4. Iltutmish / Sec AT

Correct Answer :-
« Mallik Kafur / #ferh HTHT

19) Finding the relation between “altitude” and “temperature” with the help of given examples happens in which approach? / f§T 1w
3eEo Y Age A "FU" IR "AAE" F T TG FT 94T FOAT H 3URH F @ ¢ -

1. Concentric / Tehigd
2. Chronological / @TelTeshiReD

3. Inductive / JTITHATCHD



4. Deductive / T@9TATcHD

Correct Answer :-

o Inductive / JTIHATCHD

20) In a Parliamentary form of executive it is essential that the Prime Minister has the support of the majority in . EET

mﬁwmw%ﬁmﬁwmmiﬁm
1. Rajya Sabha / IIGIHAT

2. Parliament / T8,

3. Lok Sabha / STna#T

4. Vidhan Sabha / faTeTaam

Correct Answer :-

« Lok Sabha / ShIHT

21) Receiving, responding, valuing, organizing and characterizing are the levels of which of the following domain? / UTcd <=1, Ufafsar
T, AT HIEN, SHATETT FIGAT 3 qoid T 57 AT F T 8-

1. Affective / HIdIcHD

2. Revised Taxonomy / MG Eermaray
3. Psychomotor / #A: Ueh

4. Cognitive / TATATCHD

Correct Answer :-

+ Affective / HIcHD

22) During the Mughal rule which of the following traders came to India first? / {aTer &l & Rt fwafaf@a & & #ler v
YO gl W 3TAT 412

1. English / 313
2. Danish / 3f3er

3. Dutch /3T

4. Portuguese / GeIaTeil

Correct Answer :-

» Portuguese / gé’ﬂ'ﬂ?vﬁ

23) is a system of government in which the power is divided between a central authority and various constituent units of the
country. / AER 6 tF gorrel) & oW |91 # vF FEr mitewor v g A RAffieT gew @Al F v Qe
B Jrar g1

1. Decentralization / fdchegeptu
2. Centralization / e ,TehI0T
3. Federalism / TG

4. Democracy / Sl

Correct Answer :-



« Federalism / THdTg

24) is a process that involves the assembling, storage, transportation, packaging and distribution of different agricultural
commodities across the country. / T 9fFar § 5w U W F Rt F 31-3_5'311‘ F A, %sRT, 9Rags, dfeer ik
favor enfaer g &

1. Rural development / IToT faehre

2. Rural marketing / IITSI0T fagora

3. Agricultural marketing / Efﬁf oA

4. Agricultural networking / %ﬁ' Seafdar

Correct Answer :-

» Agricultural marketing / EEW o

25) The Planning Commission was set upin ./ JVSTelT 3TAWRT Y TAGaT & Y 31§ of
1. 1960

2.1940

3.1950

4.1945

Correct Answer :-

« 1950

26) The evidence of pit dwellings have been discovered from which of the following Ancient Indian sites? / fAFfaf@a A ¥ v g
ARAT Foel & Irdfaral & gamor H @ §E §7

1. Lothal / @Yeret

2. Burzahom / gﬁ%ﬁ'ﬂ'

3. Ropar / AUE

4. Kalibangan / STel&amT

Correct Answer :-

o Burzahom / gﬁ%’l’ﬂ'

27) The most prominent challenge faced by a social science teacher is: / giee e e & Riricc) ficr) Lr;c ﬂ_fﬁ?ﬁ g &
1. Inadequacy of text book and handbooks / UTST G&dh IR mﬁf & roatgar

2. Inadequacy of in-service training programs / HdTdhTellel UfALTOT FIRAT T TTITEAT

3. Lack of proper evaluation tools and techniques / 3fad FFLFJI?hT-T SUPHOT 3R Theiepl P AT

4. Insufficient time to attain long-term objectives / S o 3eat & wifd & forw 3ruata gag

Correct Answer :-

« Insufficient time to attain long-term objectives / &rtidpiford 3dT & Wifd & fow 3zt oy

28) The most suitable approach to promote interactive environment in social science class is: / WTAITNF AT A FaT T RER
HAETcAF IRAYT F FgET & F AT waw 39gFd efewor gl



1. Frequent testing / facd aigTor

2. Showing documentation / GE&TdST gerar

3. Lecture and explanation / <AT&ITT 3R FuEiaoT
4, Cooperative learning / TgdRI 3fAITH

Correct Answer :-

« Cooperative learning / Tg&PRT AT

29) The method of inquiry-based learning which gives students time and support, they can pose original question and investigate through

theirownmethodsisknownas:Im—mmﬁmﬁmﬁmmwmmﬁmawwaﬂ
AT AT TG F ddl & ATEIH F ST g &, ® @ & T & =7 9ar ¢

1. Structured inquiry / TG g

2. Conformation inquiry / Ta&GoT SiTgr
3. Guided inquiry / IGERGESIES

4. Open inquiry / lg_oﬁ Sitere

Correct Answer :-

» Open inquiry / 1%?41 Srdce

30) The Village and Small Scale Industries-Committee are also known as amw AR GL:) W—Hﬁﬁ' i F W
# oft s Smar {1

1. Desai Committee / é}ﬂ's‘ afafa

2. Krishnan Committee / o0Ted AR
3. Karve Committee / &Td i

4. Rao Committee / T@ FIATT

Correct Answer :-

« Karve Committee / pTd GTATT

31) The method that does not help to develop critical thinking skills among the students is: / 9§ fafer st ol & & #Agcaqet |
Fhrea Refa F #§ Agg 7@ Ft &, gl

1. Rote learning / Ho¥y fafdy e

2. Project based learning / GRS 3mariRa 3ifera
3. Collaborative learning / FEARTYOT 3T

4. Self-regulated learning / TI-TAfTFT 31T

Correct Answer :-

« Rote learning / Heey Afar rfde

32) The demerit of problem solving method is: / THAEAT faaror fAfer & r 3T gl
1. It is purely individualistic in nature. / IJ& EI?{?% 2} ﬁ'?ﬁ ¥ ¥ ARharer &l

2. It brings affective changes. / I& THRIcHD URTTA T &

3. It does not help in easy assimilation of knowledge. / Jg AT P AT T HcHAATT Pl H ASE FFE?T PIdT %I



4. It does not develop power for critical thinking. / IE gl TIda & ToIT &7AaT [ARRAT A8 T &l

Correct Answer :-

« Itis purely individualistic in nature. / J% Upfd # fagg ®7 & afhardy B
33) The Government can present demands in the middle of the financial year if it feels that more money is required than
estimated in the annual budget. /| TR T a¥ & #7eg F & AT (BA0E) gEga F FHAT § A 3H v @

qIf® Joie # AT § HAF ga A AERIFA §
1. Complementary / QIch

2. Need — based / TITRT- TR

3. Mid — term / #EATa Y

4. Supplementary demands / 3eJqIh

Correct Answer :-

« Supplementary demands / 3c]qIeh

34) Which one of the following is not the nature of social science? / fAFAfaf@T # ¥ i gos [{ae f ‘Jﬁgﬁl' E
1. Study of man’s development through ages / ﬂ"'ﬁ a HIST & Ao & g

2. Study of human relationship / AT TG HT JCITA

3. Unrealistic course of study / 3CTTT P FAATIATET TTSTHHA

4. A unique combination of various subjects / faf¥eet fawat &1 v 31eer TASA

Correct Answer :-

« Unrealistic course of study / 37¢TT P HIATIAIE UTSAhaA

35) Which one of the following is measured through CCE? / wafaf@a & @ Fa ffiE F Areasr ¥ A Jmar @2
1. Physical and motor development of students only / hdel ol & ARIRE IR AAffe-gadt Aem|

2. Scholastic and co-scholastic achievement / hael Af&h 3R W-m EECIE

3. Co-curricular achievement only / hael Tg-UTGThdA U™ |

4. Gradients of scholastic achievement only / hdel &P syafey & sarR-geE|

Correct Answer :-

« Scholastic and co-scholastic achievement / dhad Af&H 3R W-m 3UATY

36) Which schedule of the Constitution prescribes a list of 18 functions to be performed by the urban local bodies? / afaersr $r Fa
gt F gl TuRhy et garr e S A 18wt f @Eh iR A a$ @2

1. 12th /127t

2. 9t/ odf

3.10th / 10df

4. 11th /114
Correct Answer :-

o 12t/ 104t



37) Which is the most suitable philosophical approach that is capable of inculcating absolute values among students through the teaching
of social studies? / aF FIT AT FaH 39YFd gRifaw TfeHor § A FrnforT rcaaar & Reror & Arewsw F oM F da Foqor
el ® AFfa w & w2

1. Realistic approach / JATIATE TTEpIOT
2. Idealistic approach / 3eeTardT gf¥mioT
3. Naturalistic approach / m EHECa
4. Pragmatic approach / TATIEING TTEHIOT
Correct Answer :-

« Idealistic approach / 3TGdTEr Tf¥epIoT

38) Which is the Lightest layer of the earth? / g2l I ¥a@ gohl W HieaT H 2
1. Lower Mantle / fa=raT (Umar )HTd
2. Upper Mantle / 3T (UTAR ) Fed

3. Crust/ & eeral (ducer)
4, Core / IS

Correct Answer :-

« Crust/ 3] UUST ([Uce)

39) Which of the following methods is capable of enhancing psycho-motor abilities of students? / FAfaf@d & & Fia @ Afr s=t
# ATIRSF &TAAIIAT T dg H TaH §

1. Simulated method / HfFHA fafa

2. Work experience method / Gop) AT e
3. Lecture method / ZaTE&d fafa

4, Demonstration method / U fafer

Correct Answer :-

« Work experience method / &I AT e

40) Which of the following is not the educational objective in the teaching of social studies? / fAFfaf@a # ¥ FiF gEes reaaaT
& fator # dfRT 35T 7F 2

1. Preservation of democracy as a value system / e YUTTell & ®T H Shad &T EIETOT

2. Creating and maintaining democratic citizenship / SehdiAeh ANTRGAT B FATOT FAT AR 38 HFA T@AT
3. Conquering the territorial jurisdiction of neighboring countries / TSI g2lf & 3IYPR &F W AT wid AT
4. Peaceful co-existence of people in this earth / 3H E[Q»?-ﬁ W 9T & Qﬁﬁ"{U‘f Te-31edca

Correct Answer :-

« Conquering the territorial jurisdiction of neighboring countries / TSI ¢ & PR &7 W e g FHear

41) Which of the following type of Agriculture is also known as Jhoom cultivation in India? / fAFfaf@a & ¥ v 9or ﬂjﬁ' HI
R # 3 AN & T ¥ oft e e 2

1. Primitive substance agriculture / ATfeH Terey EaL



2. Extensive substance agriculture / S0 Terey Py
3. Extensive commercial grain cultivation / ZTde aTOT e 3TTel HI Wl
4. Mixed farming / T @Y

Correct Answer :-

« Primitive substance agriculture / TG Tere T’I:ﬁ

42) Which of the following dynasty was ruling in India, when Alexander invaded India? / @Ffaf@d & & Fi7 a1 VoG ”aT &
ATHA FT @ U1, 59 R{ehex & ARG W ATHAT HFar?

1. Nanda dynasty / &g dr

2. Shunga dynasty / ‘\’PT agr
3. Gupta dynasty / 98 agr

4, Mauryan dynasty / & 21
Correct Answer :-

« Nanda dynasty / ¢ aer

43) Which is recognised as one of the first environmental movements in the country? / fr& &ar # gge Gy el § ¥ vF
¥ w0 F FAear gea §2

1. Chipko Movement / fgent 31ierere

2. Kisan Movement / fRaTe 3TigTeret

3. Lok Satta Movement / Sifeh&al 3TTeTeled

4. Narmada Bachao Aandolan / &I JaT3lY 3fecrole

Correct Answer :-

« Chipko Movement / RIqe! 31igier

44) Which among the following is not a scoring tool to evaluate the quality of students? / o fY J[oTaer ST ﬂm e F faw
frrafaf@a & & #la w1 =R suaor 7@t 32

1. Rubrics / ¥fsied

2. Observation / 3Tdcllhed

3. Checklist / Tepforee

4. Rating scale / HedThel AT

Correct Answer :-

« Observation / 3dllehe

45) Which among the following is one of the first commercial banks established in India? / R=Tfaf@a #A ¥ Fl @1 9Ra A vafiRa
A qivifeas d6f # § e §?

1. State Bank of India / AR ¥T d&

2. Bank of Hindustan / & 3{T% %WT-T

3. Bank of India / & 3iT% BER

4, Central Bank of India / Q=¢el Jp 31w sfEam



Correct Answer :-

« Bank of Hindustan / & 3iT% i%o—gﬁ Gl
46) Which one is not a characteristic of summative evaluation? / 5T & @ Fia IHF Fl.\?dﬁo—cl‘ #1 tF fFAwar g &2
1. It is done on a continuum / ¥ Teh FIIT P NMYR W fhAT S &

2. Knowledge of results is not possible / TROTHAT HI AT THT Ael gl
3. Tt is used for promotion / STHT IUANT Had V=R & o fvam Smam 31

4. Tt is having a judgmental attitude / I8 T HTCTED 39T SO B

Correct Answer :-

« Knowledge of results is not possible / URUTAT &I AT THT A6l &l

47) How many Tirthankaras are in Jainism? / Sl &3t & fraa difwe a2
1.24

2.4

3.34

4.14

Correct Answer :-

. 24

48) Who were Manu, Narada and Brihaspati? / A, ARG ik W‘Tﬁf FlT A2
1. Mathematicians of ancient India. / YTl #RA & IO |

2. Jain scholars. / 3ieT fagr|

3. Gods of Vedic religion. / df&e® g3 & adl

4, Law givers of ancient India / 9Tl #RA & AMHPR|

Correct Answer :-

« Law givers of ancient India / UTlieT #RT & ATHFR |

49) Deliberate reduction in the exchange value of a country’s monetary unitistermedas_~~~ . /T& WA Hifgs ng *
fafrra gwa & srggrer & it i ot FgT Tt gl

1. Depreciation / H eI

2. Revaluation / E_J,H?{)\FEIW

3. Re-evaluation / GeT: - ?FLF?II'IEF{
4. Devaluation / 3TddeTel

Correct Answer :-

« Devaluation / 3TddedT

50) National Rural Health Mission in India was launched on . | MR # g artor W@y fiwe @t # e e
T ATl



1. April 2010 / 38T, 2010
2. April 2008 / 3, 2008
3. April 2006 / 315, 2006

4. April 2005 / 31, 2005

Correct Answer :-

« April 2005 / 31, 2005

51) Which economic system shows both the characteristic features of capitalist and socialist system? / P & anffe yomedt Txﬂﬂ'lﬂ

3R FHTSTaTd yoret @1 <1 fafkre fadwrail #1 qwid 82
1. Planned economic system / faafara 3T guTrelr

2. Command economic system / fETAT 3nfdew gomedt
3. Market economic system / STl 3ME goTrelr

4, Mixed economic system / fRf3ra 3 guTrelr

Correct Answer :-

« Mixed economic system / fRfa 3nfe yomelt

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi (Chirag of Delhi)’? / et caasar & o
vy ¥ dd H “RIer-v-dgad! (Reeh 1 Rwen) & ae & s s anr

1. Abu Ahmad Chisti / 31q 31&G e

2. Shaikh Nasiruddin Mahmud / 9@ FHEEIT AEHG
3. Qutbuddin Bakhtiyar Kaki / Peqald di€dar Hiehr
4. Nizamuddin Auliya / fsmaia sitforn

Correct Answer :-

« Shaikh Nasiruddin Mahmud / @ THTEA FALHG

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / & ema® o @rRr IR AT A 3reNF TauT B
7§ feoo & TuARa fFaT?

1. Balban / delded

2. Muhammad Bin Tuglaq / HgFAC &= qTelh
3. Giyasuddin Tughlaq / FATEE orereh

4. Firoz Shah Tughlaq / TRIST Qmme JTelh

Correct Answer :-

« Firoz Shah Tughlaq / AU QME Jotereh

54) Kavi Vatsal was a title assumed by which Satavahana king? / “&fd acq@d” t& ofiNe &y @iaaes T=m @RI Hiead am
1. Yajna sri satkarni / I<1 47 Hepolt

2. Vasisthaputra Pulumavi / af‘?rgga Wiﬁ

3. Hala / @Tell

4. Gautamiputra Satkani / Tﬁa?fﬂg':[ FA®wUif



Correct Answer :-

o Hala / @Tell

55) International Network of Bamboo & Rattan (INBAR) is located at? / 1 31X §9 #T JRTET Aca®h FMETAITIR) Fgl W
T &2

1. Colombo / STer@T

2. Guwahati / J[ATEIET

3. Beijing / ST

4. Dhaka / GTepT

Correct Answer :-

« Beijing / ST

56) Which of the following strait separates USA & Russia? / w=ifaf@a & @ sl #@t Jeafe smie ik & & rewr =t §2
1. Bering Strait / ST STera e

2. Semiostrovskiy Reid / Sai3iregeedr §i
3. Fram Strait / o1& el

4. M’Clure Strait / TH Feqy STerafd

Correct Answer :-

« Bering Strait / ST STerafa

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect on the environment by the indiscriminate
use of the pesticides. Who is the author of this book? / ‘#Tgac T, 1962 ¥ FHFAT TF Agcaqol [eaF ¢ $0 el &
FUTYY 3TANT { gATEROT W gga aT Ffager ¥o7a & 9 A ¥@m g1 590 [aF F dwF 7 §?

1. Annie Dillard / Tl e

2. Virginia Arthur / gSfifaar 3meR
3. Kathryn Miles / 2l ABed

4. Rachel Carson / Q76T &I

Correct Answer :-

« Rachel Carson / T AT

58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? / s=ifaf@d # ¥ PO ToT 7 ARG TR
At 3 Fe T §?

1. West Bengal / Uf%Ia &9TTel
2. Tripura / ﬁl’g’{T

3. Meghalaya / FeTel

4. Nagaland / BICICES

Correct Answer :-

» Tripura/ ﬁ'g?T



59) Anemometer is used to measure which of the following. / AT & ¥ FF AU F AT vaAHR F1 3TN FHAT SATAT
2l

1. Wind Velocity / Ga=T ddT

2. Wind Direction / Uael T &I
3. Humidity / 37&aT

4. Air Pressure / d1g cTd

Correct Answer :-

+ Wind Velocity / Gael a1

60) Falkland Island is a disputed territory between? / ®isolS v Fas & vw fRarfea & 34
1. West Indies and Spain / d¥esasT 3T T

2. Uruguay and France / 3399 3iR wid

3. Chile and Ecuador / Rrelt 3R geramek

4. Argentina and UK / 35félr 3R PG

Correct Answer :-

« Argentina and UK / 35fé&lar 3R ?@5



